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Learning chess

Step 5 plus
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Step 5 plus

Name:

Street:

Trainer:

4"'_51'ep completed:

Date of birth:
Place:

| élub:

: 1°' step completed:

3" step completed:

5™ step completed:




Picces have to do as man
cooperate with their fe
where they are d
If your own
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The bishop on g5 is en prise.
Taking on f6 solves that pro-
blem. but White would much
prefer 1o maintain the tension.
He can do that with 1. Bh4!

White need not fear 1. ... g5 2.

Nxg5 hxg5 3. Bxg5. White
always recovers the piece,
even after 3. ... Nb8 4. Ne4

Nbd7 5. Qel!
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The pawns are pretty well
fixed in this position, Knights
do not usually suffer much
from fixed pawns. With 1.
N2b3 White can transfer his
second knight too to a better
Square, namely a5, Though
this is on the edge of the
board, the knight is active
from there. It is attacking the

t;ishop and controlling c6 and
7.
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The bishop has a splendid post
on f4, and it would be a shame
if it had to be moved (to pro-
tect the f3-pawn). The bishop
must continue to control the
squares around the white king.
So Black plays 1. ... ed! 2.
Nxed4 Be5, so as to also bring
the queen into the attack with
2...Qh4.
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White has to bring his queen
and his al-rook into play. He
has a choice. Of course the
queen can go to 3, Black then

has to play passively with 1. ...

Qc7 2. Rael Bd8. The move
1. Qe2 is not so good on
account of I. ... Nxd5. The
best move is 1. Qa4 Bb7 (a
better reply is 1. ... Be8, even
if that costs the a7-pawn after
2. Bxc8) 2. Rael with major
problems for Black.

rol as many squares as possible,
r else place them on squares from

ps. then you must open the position.
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The white kingside has been
weakened, so Black would
prefer to keep the queens on
the board.

After 1. ... Qf6 the queen gets
in the way of its own bishop.
1. ... Qh5! is much better and
then BeS. White cannot take
the knight: 2. Qxf4? BeS5.
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White's major pieces are not
yet doing much. On account of
the position of his own and the
opposing pawns, there are at
the moment no squares from
which they can unfold their
strength. It is time to open the
position. So White plays 1. ed.
After 1.... Nh6 (1. ... Be5 2.
d4) 2. Rel (2. Nxf5 is also
strong) 2, ... fxed 3. dxed d4
then 4. Nf5 is decisive.



Opening the position: A

Mini-plans
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Activating a piece: A

Mini-plans
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Activating a piece: B

Mini-plans
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Activating a piece: C

Mini-plans
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Activating a piece: D

Mini-plans
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pawn endings

In pawn endings o1
{o be very sparing i your
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In the diagram on the left the side
which has the move is unfortunate.
Whoeyer moves loses. In the right
of the same diagram, White will be
in the driving seat with the correct

king move: 1. Kgd! Ke2 2. Kg3.

In the diagram on the right White
must choose his pawn moves with
care. 1. bS b6 would be wrong. But
1. bxa5 5 is followed by 2. a6
bxa6 3. a5 and Black is in

zugzwang.

A pawn on its starting square is
often an advantage. The pawn has
the option of moving one or two
squares.

On the left White loses after 1. hd
h6. The correct way is 1. h3 g6 2.
hxg6 hxgé 3. h4.

On the right White must leave the
h-pawn where it is, since it can
advance by one or two squares: 1.
g4! (1. h3 h5! loses) 1. ... g6 2. h4
g5 3. h5 and wins.

The rook pawn. On the left the
side whose move it is, wins the a-
pawn. In any case Black cannot
win, since the white king reaches
the al-square. So, White to move
must make sure that the black king
cannot reach ¢7: 1. Kf7 Ke2 2,
Ke6 Kd3 3. Kd5! and wins.

Key squares. On the right: 1, Kh2!
(1. Kxh3? Kxh3) I. ... Kxh5 2,
Kxh3.

Let us look at a breakthrough on
the left. 1t is too soon for 1, g4
fxgd 2. (5 px15 3. hS. The correct
way is 1. Kd3 Kxb3 2, g4 fxgd 3,
15! gxf5 4. hS. Now alier 4. ... g3
5. Ke2 is decisive.

On the right the white king is not
in the square of the pawn but the
black king is. White needs a little
bit of magic with 1. Kf8 Kf6 2. h6
Kg5 3. Kg7 Kxhs5 4. Kf6.

The more [empo moves y
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sere are only king and pawn moves. So you have
ou have in reserve the better.
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Tempo play: A

Pawn ending
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King in the middle

The third golden rule is: get your king to safety! It can of course happen that the king is safe enough in the
middle and that castling is not necessary. Usually. however, that is not the case. If it is in the middle the
king can be attacked from all sides and the pawns in [ront ol it have usually been pushed forward already.
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The weakest point in the
starting position is {7 for
Black and f2 for White. That
need not be a problem when
one at least makes sound
opening moves. In this
diagram Black has placed one
of his pieces slightly
awkwardly. After 1. Qc4
Black can no longer defend f7:
1.... Nd5 2. Qxcé6+).

E sWée K

A a4 444
& F
s )
4
&)
& ARPARNA'

E Qwd h=4

A bishop on bs which pins a
black piece against the king
Crops up in numerous
Openings. Black wants to get
out of the pin with a6, which,
however, is not a good idea.
White does not need to move
his bishop away at once. 1.
Qf3 is strong, 1. ... Qe7 or 1. ...
Qf6 is followed by 2. Bxd7+
Bxd7 3. Qxb7. An even worse
move is 2, .., f6 3. Qh5+ g6 4.
Nxgé hxg6 5. Qxg6+ Ke7 6.
Ba3y,
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Black is slightly behind in
development. Nevertheless, at
first sight there appears to be
no problem. That would also
be true if Black could castle.
So White must prevent him
from castling with 1. Ba3,
after which Black does have
problems. He cannot even
play 1. ... Nbd7, since White
then strikes with 2. Rxe6+
fxe6 3. Bg6#.
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In situations where there are
kings in the middle you must
try to open up the position.
White manages that in this
position by leaving his puwn
on d4 and playing 1. Nd5!. No
matter what he plays Black
loses material:

A) 1. ... NxdS5 2. exd5 Qc5 3.
dxc6 Qxb5 4. Rel+ Be7 5.
Qxd4

B) 1. ... Qd8 2. Bg5 Be7 3.
Nxe7 Qxe7 4. e5
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This position occurs after 1. e4
€5 2. Be4 Nf6 3. d4 exd4 4.
Nf3 Nxed 5. Qxd4 Ndé6 6. 0-
0. White has sacrificed a pawn
for a lead in development. He
is already winning, since
Black has placed his knight on
dé6. After 6. ... Nxc4 (or 6. ...
Be7 7. Qxg7 Rf8 8. Rel) 7.
Rel+ Be7 8. Qxg7 Rf8 9.
Bhé it is all over.
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The queens have been
exchanged. Usually a king in
the middle is not so bad then,
even if one can no longer
castle, This position is an
exception, above all because
Black has already moved his
king.

White can obtain a big
advantage with the surprising
1. Nb5S. After 1. ... exb5 2,
Bxb5+ Bd7 (2. ... KeR 3.
Rd8#) 3. Bxd7+ the Ng4 falls.



Mix: A

King in the middle
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Mix: B

King in the middle
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Opening the position: A

King in the middle

X
A

oa o

) -4
o -4 -

| -q

i g <
o0 - <1 @
o -4 &4
_.@ -] <] u |
D - <3
o < @ «
|
wW - o
__Z..-| <
a4 9 DAY
-“ o < 3
e D <«
_ -t <] =)
& «
< <
M o
- <] &1
- &i
- 2E)
o| - _
el 4 @
- §<f
- <
e A |

inf| g <]
-« <9 |
o - § <=
D g
- :
ot _
4PJE <
) -4 <A

_ll_ <
o g
oa g =
9 «Jg o
“« o =)
D < af
& o <
M 4 §J <4
o - g
& - o <1 o §
e FI
® <
folaa g
- o
nq - =IO
-« < &
M -« @ 4 |
“« df
P < 5
2D « G
-l ag
<« 1D



The wrong bishop

Having an extra bishop and rook pawn is not enough for a win il the bishop is not of the same colour as the

queening square. There is quite a 1ot to be said about this “wrong bishop™.
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On the left, White draws il his
King can get to al in time, The
king is still outside of the square of
the pawn. but it gets there in time
thanks to the f-pawn: 1. Kd6!
(threatens 2. Ke7) 1. ... Kxf6 2.
Kc5, and the king reaches al.

On the right Black is left with the
wrong bishop after 1. a6, After 2.
KdS5 and 3. Kxc5 it is a draw.

On the left Black has the wrong
bishop, but also an extra pawn
which seems to promise a win.
However, White can cleverly
secure half a point: 1. Bd3+ Kb4
2. Bxa6!

On the right White must win the h-
pawn. It makes no difference that
it costs him a knight. After 1. Nh5
Bg6 2. Nf6 and 3. Nxh7 the h-
pawn disappears from the board.

In the left-hand diagram White has
no problem drawing without the
g-pawn. At the moment the king
cannot reach the corer. However,
there is a surprising way to save
the game: 1. gd+. After 1. ... hxgl
(1. ... Kxgd 2. Kg2) Black can no
longer win. Check it out.

There are two such drawing
positions on the right. No matter
whose move it is, it is a draw.

The wrong bishop wins:

P il the defending king cannot
reach the corner

P il'the rook pawn can be turned
into a knight pawn

On the left, after 1. Ke5 Kh4 2.

Bf5 Kg5 3. Ke6 Kh4 4. Kf6 White

wins slowly but surely,

On the right the a-pawn becomes a

b-pawn after 1. Ka6 b5 2. axb5

and wins.
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The wrong bishop: A




Endgame The wrong bishop: B




Endgame
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The wrong bishop: C
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Vulnerability

In almost every position there are weaknesses. We must learn to exploit our opponent’s vulnerability. We
just reduce as far as possible our own vulnerability.

X i d X We must attack in the opposing
position important squares (points)
& L 444 which are hlarcl to protect.. On the K
A i left 17 is a point which is hard to d 4 &
o) A protect. After 1. g6 (not 1. Ne5 A
Qed+) 1. ... hxgé 2. Ng5 Black can
resign.
& On the right Black plays 1. ... g5. A A X
Al The threat 2. ... Rxd6 can no A
longer be parried: a threat which is el
= &= - \y hard to parry. __ B o

| On the left, Black appears to have X @
problems. Both 1. ... f5 2. d3 and
& 1. ... Nf6 2. Nxd6+ lose. We find )=t &
2 the solution for Black whenever F 3
i we discover the weakness of
White’s back rank: 1. ... Be6! 2. |
Qxed Bxcd. ol 1
On the right White can only attack ‘ &
AA the c6-pawn when his own security
is guaranteed. White begins with 1.
_ﬁ’ h3, so as to prevent a possible |
mate.

ficiently protected and unprotected

i pieces. 4 &
i

On the left the unprotected bishop

X & In these positions we have insuf- 5 ® W
A r,

on e7 stands out. 1. Bxe4 Bxed 2.
Ne3 Qf5 3. Nxed Qxed 4. Rel.

> ® ke

A queen on d4, which also still has a

>

defensive role: 1. ... Be§5 2. Qd3

i ]

123 On the right there is a vulnerable A
AN

E& Bxe3 3. Qxe3 Rxcd. hn

€
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On the lell the e6-pawn is pinned.
& Does 1. NxdS BxdS 2. RxdS win a Ad 2444
pawn? Na! You do not have to A A 4
take: 1. Nxd5 Qb7, and White |
& loses the knight on 13. | 4 a
| On the right Black thought he was e A

A
WA being clever with the move Nh5, 1, | A A oy
pu

B o A gain of material or not? -4 o W K &
4

Nxe5 is followed by 1. ... Nxe5 2. ; .
& Qxh5 Bg4 winning the queen, So 88 a 8 88

of course White first plays 1. Bxc6 |n 2 W po g~ =
and only then 2. Nxe5,



Vulnerability: A

Mini-plans
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Vulnerability: B

Mini-plans
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Reducing vulnerability: A

Mini-plans
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Vulnerability: A

Opening
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Vulnerability: B

Opening
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Vulnerability: B
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Yes or no: A

Winning material
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Yes or no: B

Winning material
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Queen endings
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The queen can do great damage
in the endgame. Here the white
king is the victim: 1. ... Qf3!
(threatening f6#) 2. QeS5 f6+ 3.
Qxf6 Qg4 #.
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Meeting a check with a counter
check 1s an effective way of
getting out of annoying checks.
After 1, Ke2! Black can give
check. but the white queen can
be interposed with check, e.g. 1.
v Qe2+ 2, Qd2+,
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Exchanging queens is a good
strategy for the attacking side,
especially if it has a far
advanced passed pawn: 1.
Qg7+ Kd3 2. Qd7+, and after
the exchange of queens the d-
pawn decides.
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One strong weapon is X-ray
check. The chaser chases the
king on to the fatal square: 1.
Qg2+ Kf4 2. Qg5+ Ked 3.
Qf5+ Kdd4 4. Qd7+.
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Perpetual check is the
defender’s most important
weapon. After 1. ¢7 Qed+
Black can give perpetual check.
So White first finds a better
place for his queen with 1.
Qo8+ Kg7 2. Qb7+ Kf6 3. ¢7
Qc3+ 4. Kg2 Qcd 5. c8Q.
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The black king is shut in, Alter
1. Qe7 White can make use of
zugzwang. The black queen
needs to keep up the protection
of the hd-square and so cannot
move. Black has no useful
moves.
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Setting up a battery oficn
makes sense. White wins with
1. Qd5+ Kf6 (1. ... Kxf4 2.
Qg5+) 2. Qg5+ Ke6 3. 15+. A
rewarding discovered check.
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White must watch out for the
perpetual check (1. ¢77 Qe3+ 2.
Kd5 Qd3+). By 1. Qe5! White
prevents this defence: 1. ...
Qe7+ 2. Kd5 Qxe5+ 3. Kxe5
Ke7 4. Kd5 Ke8 5. K5, and
White wins.
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White's win is very unexpected
and again comes by setting up a
battery: 1. b8Q! Qxb8 2. Qed
(2. Qd5? Qg8 3. Qxg8 stale-
mate) followed by a winning
discovered check: 2. ... QS+ 3,
Kgi+.
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Queen endings Activity: C
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Defending

If the attacking side mak istake P
& side makes a mistake. then it is usually not fatal: the attack may have been beaten off, but
'

the battle goes on. On the other hand. if ;
£ and, if'the defender makes a mis
> B akes a mistake then the g
spot. So when defending it is mportant to be espeeially careful ‘ FRGIEI At it b the

sre
Let us repeat the basic ways to delend: capture, move away., protect and interpose. In Step 5 the degree of

difficulty is again a bit higher,
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Defend against mate

Black is threatening mate on
g2. White can react by
protecting or interposing. In
addition he must also take
care to always be able to
meet Ng4 with Bgl. The
correct move is 1. Qe2, but
the obvious 1. Ne4 is bad in
view of 1. ... Nxe4 2. gxh3
Nf2+ 3, Kgl Nxh3#.
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Defend against a passed
pawn

The first move is not difficult:
1. Re5+. White only has to
think after the reply 1. ... Kf8.
Taking on e2 is stalemate.
White plays the cunning 2.
Bf7! (the point being 2. ...
Kxf7 3. Rxe2 ). Black can still
try 2. ... a2 (3. Bxa2 e1Q), but
then there is the threat of the
strong 3. Bh5! And
unavoidable mate on e8.
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Defend against threats

White has started the attack on
f7 with Ng5. Black’s best
move is 1. ... d5. White can
sacrifice a piece with 2. Nxf7
Kxf7 3. Nxd5 Be6 4. Bxc7
Qd7, but then Black is better.
Nor is 2. Bb3 Bb4 any good
and 2. Nxd5 Nxd5 3. Bxd5
Bxg5 would be quite bad.
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Defend against an attack on
the king

Black played 1. ... g6 (2. Nxd5
is a threat to be taken serious-
ly), and White was able to
continue attacking to his
heart’s content.

When there is an atlack on the
king, swapping ofT the
attacking pieces is almost al-
ways a good strategy: 1. ...
Nxc3 2. bxe3 (2. Bxfé Ne2+
3, Khl is followed by Bxg2+)
2. ... Bed.
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Defend against threats

Black is a pawn up: White has
some pressure. Black defended
with 1. ... Rae8, but after 2. Bb3
he could no longer protect the
pawn on e7. The correct move
is 1. ... Be6. in order. if
required. to be able to swap off
the active knight. e.g. 2. BbS

Bxds5 3. RxdS Rfd8.
=
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Getting out of check

Without thinking White would
play 1. Rgl. he is tortunate
that after 1. ... Qa8+ 2. Rgl
Qal+ he still gets the chance
to make up for his mistake.
White must divert the queen
from the long diagonal with 3.
Bel! Qxel 3. Rgl.

The best move is of course the
immediate 1. Bel!
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Defend against threats: A

Defending
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Defend against threats: B

pefending
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Defend against threats: C

Defending
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Defending Defend against a passed pawn: A




Defend against a passed pawn: B
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Defend against an attack on the king: A

Defending

-« = <«
DA G <
inf -4 <] ¥4
A « <
e ol 9

- < Q|
o - < 5l
°

4 3 <0 e
e =] <] i
] -f o <]

=5 e 8|
D < _

- & |
=f |
] g <
®
<]
e D HmaP
i -4 -
iw.‘a o

- o

Imi -q <]

- <
..?‘ maxmn_
_!....e& <4
E [ ey e
o -G @

“« - <
_ | <]
il g nn_ﬁ_m
°
| ‘y o@
£ <q
| - e <0

d
im <
E ] _
- <]
| -4 of < o
@
. <]

H 2 <19
I L

- |
| ] 2|

El w <] |

-
-od <) _

<] 45
H <« <
) -4 <] s
o @
H -4 o<
< o G <9
- <] <]
] -f 71
@
E i <
] Gl <28
] - <]
Q ol 4 <]
.1 -4 m,_ <
=4 <]

< D < 5
P - <]
M <

<

D - -« A
| < 4

o« o<

-4 <]
®

F Ang
2 < < |
<-4 J
w P -
€ <«

-

-

i -4 Am|_

am D

“« ag
<] 1
P « I G

« <]

o € < <
=3 <
| -4 < =



Defend against an attack on the king: B

Defending
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Defending Overcoming a passed pawn: C
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Getting out of check: A

Defending

- < _ af
5 - <J < 8 ) <
bl - < LE D w !
D e <
<4 | =)
o4 o < Qo< |
4] <] -4 J)
) - <1 g < |
. s
) - < = o <t 2
F R o <1 o | - |
< -4 &< | g f
B - <8 |
2 - =4 _ =l _
P < & |
-« 2 < Q| _ < _
] ¢ <5 i o m |
[ ] [
< 4 =4 < |
- < | 4 -4 <
H - q |
Eis g _
@ 2 |
L E ) | -q _
¢ < il P W

| -4 <
B -4 Cog]
E! )
- ()
€«
<]
o <
- <]
®
i - <
g <]
. - &
9 - D
G oI
« & <1 B
- <
M. |<I
& <
B - < B
- <
o
=] D
<
- <]

. - <
- <1 B
o - =
- <
4By 4
o - & <
) of < ]
i - <
B <J
=« @D
D - a
Dol 4o e
w«l =
LR} e |
@ B -
<« <
P « HIa |
i
=) -« <
| |
- < 2
o < <
<t <



Getting out of check: B

pefending
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The ‘eternal’ pin

Sometimes the attacking side must maina ing
best thing to do is to maintain the pin as long as possible, an “eternal pin™,
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Alter 1. Bed Kg7 2. h4! The
pin does not last much Tonger.
Black runs oul of moves: 2. ...
g5 3. hs.

On the right White does not
take on e5, till Black gives up
the protection of e5. Although
he can gain two points he
maintains the ‘eternal pin’.

On the left Black can get out of
the pin, but not fast enough.
White wins with 1. h4 Ke8 2.
Rxd7! Rxd7 3. h5 Ke7 4.
Bxd7+ Kxd7 5. hé.

On the right we can see three
eternal pins from which it will
cost the defender material to
escape.

The defender is not always
helpless. On the left White
cannot increase the pressure: 1.
.. Rd7 2. a4 Rd8! (not 2. ...
a6 3. a5, and White conquers
the ¢5-square) 3. a5 Rd7!
White can do no more.

On the right too, White has
nothing. Black is threatening
Ri¥!, and after 1. Ke2 Re8+ 2.
Kd2 Re5 Black is ready to
play 3. ... Kd6.

On the lefi the Ng7 is lost.
White can save himself with an
cternal pin: 1. Rf3 Bxg7 2,
R{7!

On the right Black wants out of
the pin on the Ni6, White has
other plans and plays 1. Bh4.
He continues to tie down the
queen. 1. ... g5 2. Nxg5 hxgs
3. Bxg5 followed by Qd2 and
Qf4 would be bad now. Check
it out.

tin a pin even if it does not bring in an immediate gain of material. The
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The pin The ‘eternal’ pin: A
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The ‘eternal’ pin: B
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Defend against the ‘eternal’ pin: A

The pin
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Endgame: bishop against pawn

An extra bishop is usually enough
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Black is threatening 1. ... Kb3
and a4-a3. White has to put his
bishop on the correct diagonal:
1. Bd6+ followed by 2. Ba3.

3°)

Liquidating to a pawn ending.
Remember this trick: 1. Bd4
Kb3 2. Be3 b4 3. Kdd bxc3 4.
bxe3 Kad 5. Kxc4.
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The bishop also has a lot to
offer in defence: 1. Bh6 Kf7
2. Bf4 Kf6 3. Bd6 a2 4. Bc5
and now Black must take a
draw: 4. ... Kf5 5, Bd4 Ked.
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The bishop has two tasks:

protect its own pawn and stop
the passed pawns: 1. ¢5+ Kb7
2. Bed+.

& A

The bishop must keep the king
away from f6 and guard f8: 1.
... Bg7 (not 1. ... Be5+ 2. Ki6)
2. Ke6 Ked 3. Ke7 Kf3 4.
Ke6 Kf4 5. Ke7 Kg3.
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*Sticking’ is a clever defensive
weapon: 1. ... Bf3. Now White
must weaken his position: 2.
¢7 (or 2. Ke5 Ke7 3. d6+ Kd8)
2.... Bgd 3. Kc6 Be8 4. d6
Ke6.

for a win. There has to be at least one pawn left on the board.

White cannot take on a3 as
long as the black king is
attacking the ¢3-pawn. The
bishop must go to bl: 1. Ba2
Kb2 2. Bbl!
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White can no longer stop the
h-pawn. The extra bishop
makes the difference: 1. Bd1+
Kf2 (1. ... Kxdl 2. b8Q and 3.
Qbl+) 2. Bf3 Kxf3 3. b8Q.
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White must get everything
moving so as to stop the far-
advanced linked passed
pawns. He is forced to play 1.
Kd1 Ke3 2. Bel! (or else Kd3
and e2#) 2.... Kd3 3. Bad2.



Bishop against pawn(s): A




Bishop against pawn(s):

Endgame







Bishop against pawns: )

Endgame




Zugzwang

Zugzwang: it is your move and the only moves you can make will weaken your position
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In endgames it can be uselul 1o act
as though it were your opponent’s
twm o move. What could Black do
in the diagram on the lelt? Every
rook move would cost him his
rook after a discovered check. So
White must make a waiting move
which does not really change the
position; 1. Ba5!

On the right, Black is threatening
Re2+, so White plays 1. Kgl and
we end up in the position on the
left.

Working with zugzwang is a good
weapon. The stronger side makes a
waiting move, so that the opponent
runs out of moves. On the left
White plays 1. Bel Kc7 2. B2
Kc8 3. Bg3 Kd7 4. Kb7. In such
positions a knight (e.g. on d3) is of
no use.

On the right, White loses at once if
it is his move. Black can shift the
move to White with 1. ... Bf7 2.
Be2 Bg8 3. Bd1 Be6.

On the left the queen is preventing
White from mating withl. g3#.
After 1. Be7 the threat is 2, g3+,
Black cannot make an airhole: 1.
... £5 2. Bd8+. so all he is left with
is 1. ... Qf2. White then plays 2.
Bd6, and atter 2. ... Qfd+ 3. g3+
Black is lost.

On the right after 1. Kg7 Black has
no sensible move left: 1. ... g4 2.
Red; 1. .. Ral 2. Re5#; 1. ... e5 2.
Rxe5+; 1. ... RIf2 2. Rhl+,

On the lefi 1. RI8 Ne7 achieves
nothing. White must patiently
playl. RF7! All Black can move is
his g-pawn (any move with i piece
is met with 2. RI¥): L. .. g4 2, KI2
g3+ 3. Kg2. Now 4. Ri8 is
decisive.

On the right Black is running out
of moves: 1. Kg2 g4 2. Kh2 g3+
3. Kg2 KhS5 4. Kxg3 Kg6 5. Se5+.
White must still be careful: 1. Kh2
g4 2. Kg2 g3 does not win.
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